Vo d\Wewnser 4[4




i /‘('L 4 [
G=§+a=9,/«‘;_(44>+€€ z)“ q/f'ﬁ_(‘s

B 408 da on A0u wik A% aweklof
(&ass <2 Y o&g&t\\&g el o e 624,()

(i)
/109 %E{“ S—w\
K/Q \ S wN‘A SN
L5 &k«a{ L
c>‘- gtr de— Wausser M
d) ) = _ A
o E - A0






No & tllowswr 4[4
r@ _>_Z ({-,&4)

G & &=
‘J

Y A0V olArulc/fg
«©)
O'X,'(”"' /1 , X—L 4 {Lx‘:ﬂ\
— | £xw
4 < |



o) 2500

! . = (o) AW
X = X =| qooo s LGS
% 25700
%esuw\’f
(o) °

(w) O A 4‘-_ r 3£ 00 = Xg =Q-(MO—X£))= £06000

% $) Q) kooo => X£°)== -f;.éeooo = C000o

o A o |wool = x=8000

g O X+ A x© + £x = FE60

o) TO60
z'/"> ;2 ¢ = ¢-600
SO00



o
—)
L \!
\
i
\/ 0O G\ O
< 9 ©
~ o =\¥ <\ s\ ©
Ny
\I/
< 9 ©O
< 9 ~<\?
O o\\w 9
# g
o |

- (A)

(J
RS

) (2)

X

2
L-X

\

L-L-

~ (2)



D O
oo
(v )
X
<\v
+ o
e X
* |
<
x %
) T

D

o Mu(%g&s— etS'«.»e\\&




Q?J\( Xe = 2%,= 0O

L—\s&L\« K= -E \ta‘tju‘ctﬂ"'a, =D X, = 2t
1. T ede

S/,
() e
q

\. s,
() %, 2 5000 ak. will b= 2S00 ) daud

250
X = | Sooo

1£360



